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Important Instructions : Question paper is divided in three Sections—(A). (B)
and (C). '
(i) @UE (37) & |t W T & AfEd v
All questions of Section (A) are compulsory.
(iif) @9 (F) T (W) 4 =L +ff T @ve 7o s
Solve any one section from Sections (B) and (C).
(iv) 9% @8 & ot 9¥ ¥ I U & wm W og .
=fea |
Write all answers of each section in same place.
(v)

SR - F1 S s Agifes wed ¥ forw £

Maximum word-limit is only for the theoretical questions.
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@ug-( ) / Section-(A)
A Gl war et & e raie

(Partnership Firms and Company Accounting)

frder . wE-(F) ¥ Wy ol whefddl F fog st § 1w wEiE 1R 6
A ST W § | yaw yel W 1 ot fuift 1w e w1 I
1y 91 1 9§ 2 e aegfe weE ot €1

Instruction : All questions of Scction-(A) arc compulsory for all students. Question
Nos. 1 to 6 are very short answer type questions carrying | mark each.
Answer these questions in / word or / sentence and also include objective
type questions.

TS T

Objective type questions :

-1 OEEd ¥ YRR w1 e g (1]

(37) Hifea
(7)) I
(@) Uit 7= difaa
(%) T 4 =i el
Liabilities of partners in partnership is :
(a) limited
(b) unlimited
(c) limited up to extent of capital
(d) None of these
g2 w7 dsit o stferen afell o1 ot @7 fopan < ehen, e € - [

(1) T of

(=) arfea et

(@) efuga i

(7) frifa goit

The capital above which shares cannot be issued, is called :
(a) paid up capital

(b) called up capital ]

(c) authorized capital

(d) issued capital
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(31

THEIF W SR At o fore S § aite s 2

(37) T TN ST o , - [
() A1 A 31ume o

(%) = agae |

(?) Wit 1 o

In which ratio the profit on revaluation is distributed?
(a) New profit-loss ratio
(6) 0Old profit-loss ratio

(¢) Sacrificing ratio

(d) Gaining ratio

TR T Ui s afad § @ W ? (1]
Whether registration of partnership is compulsory or optional?

wfea gsit ot g e wid s wwd § 2 (1)
When does a company can call the reserve capital ?

st frd FAE? (1]

What is super-profit?

. WEA HE 7 ¥ 10 T AYITT T € | TAE ¥ W 3 e Fuifa §1IW
Y Afuehan TR-HH 50 TR T

Instruction : Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. Maximum word-limit of answer is 50 words.

e TG 100 %, AR 50 379 &, TG W I HAEZT W 30 %., A R

20 %. =g % WuW FTaA W 30 . Wi 37 A 7 HT HH | Fererhi
3 3% S o1 T T forn | siEl F w0 % ey F it wfafeat SR [3]

Rohit had 50 shares of Rs. 100 each, on which he paid Rs. 30 on
application, Rs. 20 on allotment but failed to pay Rs. 30 per share
on first call. The directors forfeited his shares. Pass Journal Entries

regarding forfeiture of shares.

FA-1 Twet § THeE wm R fFm e ¥ (P a2 - [1+1+1=3]

In which conditions Revaluation Account is prepared (any three)?
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Instruction

-1

[4]

T X uF W 11,000 5 § y fafide @ @l w9 g1 1 yrEm
100 %. 59 ¥ 12% Horqst gRY W O 10% W W it feam
FR H gl F st whafedt )

Ranjana bought a machine for Rs. 11,000 from ¥ Limited. Purchase
consideration was decided to pay off by issuing 12% debentures of
Rs. 100 at 10% premium. Pass Journal Entries in the books of the
company.

M fafaes 3 10 & @ 15000, 12% YEifyER 3iw s § Foifra
0 Tl ofer v W @ ) Sl Y gt § seta wffeat

[14+2=3]

Fifea [1Vat+1%=3]

Lokesh Limited issued 15000, 12% preference shares of Rs. 10. All
the amount have been received in lump-sum. Pass Journal Entries in

the books of the company.

D W HAIR 11 T 12 dYSdE W € | Y% 9 W 4 3% Frvifa ) vl

- T R 37l fasew € 1 3w 9t stfisan w=g-dimn 75 o ¥

: Question Nos. 11 and 12 are short answer type questions. Each question

carries 4 marks and has internal choice. Maximum word-limit of answer

is 75 words.

T IR v T W T WEER €1 1 S, 2018 H ST o s

25,000 . 3R 20,000 . o4F | 3% st W 8% Wi ad #1 R A = e

S R A I SRV T 12% S T S E 1A ¥ 1 AR, 2018

I 10,000 T FH ® KT F T Y U @A 5,000 5. IfF a7 T
Afsrd ¥ | 37 SR W A FAA: 600 T. F 500 F. T T 31

TeE®R, 2018 ! FAIS =¥ 1 T TIGF FATESA ¥ TH 25,000 %, o7 | 4
2018 T TM-eIf1 FEieA @ R |

Ram and Shyam are partners in a firm whose capitals on 1st J anuary,
2018 were Rs. 25,000 and Rs. 20,000 respectively. They are allowed
Interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. 10,000 to the firm as a loan on 1st July,
2018. Shyam is entitled to get an annual salary of Rs. 5,000, Interests
charged on their drawings were Rs. 600 and Rs. 500 respectively.
The profit for the year ended on 31st December, 2018 before
making above adjustments was Rs. 25,000. Prepare Profit and Loss
Appropriation Account for the year 2018.

(4]
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rerar
OR

A, B3 C weer ¥131 =, 2018 =i 31 Faga Frefafaa o ;.

UG Uil wefat LU

(%.) (%.)
ATER 3,000 | WY 1,200
it AT 400
A - 2,000%. @Y 2,650
B - 1750°%. TR 3,780
C - 1,500%. 5,250 | VFE 220

8,250 8,250

1 31dd, 2018 W D ) SEE T ¥ vaw 33 ¥ fag o w6l W

TETE o §—

() aﬁ1,sma.mﬁﬁmam1,aooz.ﬁ#mmaﬁm
(i) Tl T TR T AN 950 T IR 380 7. et )
(iif) Y T 450 ¥ q@E1 T
AN-Tf TN G TR

A, B and C are partners. Their Balance Sheet as on 31 March, 2018

was as under :

Liabilities Amount Assets Amount
(Rs.) (Rs.)

Creditors 3,000 |Machinery 1,200
Capitals : Furniture 400
A - Rs. 2,000 Stock 2,650
B-Rs. 1,750 Debtors 3,780
C-Rs. 1.500 5,250 |Cash 220
8,250 8,250

On Ist April, 2018, they admitted D for equal shares on the following

conditions—

() He will bring Rs. 1,500 for Goodwill and Rs. 1,800 for Capital in cash.

NM-43 B
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Instruction

w-13

[6]

(if) Machinery and Furniture were valued Rs. 950 and Rs. 380 respectively.

(iif) Value of stock be increased by Rs. 450.

Prepare Profit and Loss Adjustment Account.

T ST AR Av-wifta Srar § sie fefae (8 @0 ) [1+1+1+1=4]

Differentiate between Sacrificing ratio and Gaining ratio (any four).

arerar
OR
wrrer &t forgl =) fadmnedl #t v

Explain any four characteristics of Partnership.

: W FHIF 13 ¥ 15 7 HSaid wE ¥ T@® T W 6 3w e ¥
WH W W HAiaia famea 1

: Question Nos. 13 to 15 are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

T fafiiee 3 10 €. 9 10000 Twew 31w 2 . WA atw Wifiay g frifag
few) ofe et yoR 3 fi—@ W 3 % v siw, emeie W s ©,
(sifirm afeq) gfa siw qen I a1 w0 afe gy W 8
HYA I get J usi gfafieat S (1+1+1+1+1+1=6)
Goyal Ltd. issued 10000 equity shares of Rs. 10 each at a premium
of Rs. 2 per share. Amount payable—Rs. 3 per share on application,

Rs. 5 per share on allotment (including premium) and balance on call,

All amount were duly received. Pass Journal Entries in the books of
the company.

NM-43 B
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rar

OR
3 fafires 3 100 7. AR 4000, 5% Feora=t 10 %, WhY o Wt v frey
YR frifira forg —amdea W 20 %, sz X 50 . (ifiram wfeq) 7
I A TR TS ¥ ol s W g 1w ufen e wa
TR | U S geaent H sl wfafesi wifw)
Jain Limited issued 4000, 5% dcbentures of Rs. 100 each at a
premium of Rs, 10 per debenture payable Rs. 20 on application.
Rs. 50 on allotment (including premium) and balance on call.

Applications were reccived for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.
14 W Wi % famen ¥ foafefen geeell @ W wfafel

e [1+1+1+1+1+1=6]

(i) U= SAfafaa Sufa | a9 g3 1,500 T. |

(i) SgeR T F 1,000 & FH|

(iii) TR o aget @ § wEaiE e g €, @ 48,000 %
ECGRERIRICH

(iv) 7,100 ¥. geg 1 Tefaal o el @ A e & sn g
%, ! TF WERR B ¥ 5,000 %, H A fern)

(v) ORI R Tl @R H T fRaT SRR, 30,000 €. YAH
forani

(vi) T @R % AN 12,000 % BADH7 : 5 % T W Siel 74|
Pass Journal Entries on the dissolution of a firm from the given informations :

(/) Rs. 1,500 realized from an unrecorded assel.

(i) Paid dissolution cxpenses Rs. 1,000.

NM-43 B P.T.O.



(8]
(#if) Debtors transferred to Realization Account realised Rs. 48,000.

(iv) Stock Rs. 7,100 transferred to Realization Account was taken

over by a partner B for Rs. 5,000.

(v) Creditors transferred to Realization Account paid ofl'Rs. 30,000.

(vi) Realization profit Rs. 12,000 to be distributed among 5 and D
in the ratio of 7 : S.

rear
OR

X 3R Y 0w & wier § 1w ¥ faveT w Prefataa sqaedl F fan
Teit wiafeest wifer ;

() = Fvfafe gafa #t ageh uf¥r 8,000 .1
(i) ﬂﬂalﬁaﬁa,noo L ‘T‘ﬁﬁﬂﬁﬂll
(ii7) v Fo ol @ F Al fear < g &, 2,000 % # &= T

(}v) fafarii & 10,000 %. a9 TU/

(v) {927 =@ % 800 %. YT )
(vi) S TR T 6,000 %, X ST Y H 3 2 1 Forafi o e &

X and Y are partners in a firm. Pass Jounal Entries when the firm is

dissolved on the following conditions :

(/) Amount realized from an unrecorded asset Rs. 8,000,

(i) Rs. 3,000 were paid in cash to creditors,

(iii) Stock transferred to Realization Account was sold for Rs. 2,000.
(v) Rs. 10,000 were realized from investments,

(v) Dissolution expenses paid Rs. 800,

(vi) Profit on realization Rs, 6,000 is siared by X and ¥ in the ratio of 3 - |

NM-43 B
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WIS TREH A L M 3R N wen F ader #131 @, 2014 % 0y = 5y
A T 38 fafy w g 20,000 ¥9 g aﬁlﬂ?ﬁﬂhﬁmw%mgm
5000 ¥. I SMUSHT gRT sfey of sy it et | werm M 1 S,
2015a?rﬁmwmnuﬁwaﬁmwiﬂ1 BRI Rt & WY
SUUERERT #Y gy 2 sEd, 2017 a1 Q) ufs 9w 98 W g
mﬁmaﬁmﬁmaﬁmﬁwﬁ%mﬁaﬁmmmr
L, M and N are equal partners in a firm. M died on 31 December,
2014. On this date, amount payable to him was Rs. 20.000. It was
decided that this amount will be paid by annuity of Rs. 5,000 to be
paid each year. The first payment was made on 1st January, 2015 and

other payments were also made on 1st January every year. On 2nd

[2+2+2=6)

January, 2017 his legal representative died. Interest was allowed @
6% p.a. on balance amount. Prepare Annuity Suspense Account.
ear
OR

X, Y A Z O % H Wier €, < wv-wif o e 30211 % sum
T & B 1 SEEH, 2014 T X IEHW TeW wer ¥ 39 fafy W R
20,000 %. 27 ot | 9w Tviy ferar wan fo g wfy 3,000 & =t =fife g
YT ST SR | WIW ST 1 SEad, 2015 1 e wan qo uf ad e
YT o 1 SE W R T 2 SEEd, 2018 X g0g B Wi #
Wi T At fw W 6% At At T/ =4 HETOET A o ¥
I Wl TR | [1Y4+1Y+1Yet+1Y2=6]

X, ¥ and Z are partners of a firm sharing profit and loss in the ratio
of 3:2:1.On lIst January, 2014, X retires from the firm. On th'fs
day share of amount payable to him was Rs. 20,000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each
year. The first payment was made on 1st January, 2015 and other
payments were also made on 1st January every year. On 2nd January,
2018, X died. Interest was allowed @ 6% p.a. on balance amount.

Prepare Annuity Suspense Account.

.T.O.
NM-43 B P
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Fdor : mm16qﬁ1vwwﬁlmmmamﬁﬂﬁailm
W W 3t fawey 2

Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries

8 marks. Each question has an internal choice.

Ug-16  TF, a0 3R WRd T o 3 wden ¥, S an-wf i fadse e, 1
3R /6% I A w ¥ 31 "R, 2016 F 37T Fager FETIER 91

Trfae iy wafvrar LUty

(%.) (%.)
TRR 8,000 | Uws. 15,600
% Afufawd 3,600 | fafaw TR 13,000
HA §97 12,000 | @Y 17,000
St GCE 3,000
[ - 20,000 ITER 3,500
TEAW - 10,000 %. CCEl 11,500
YRa - 10,000 %. | 40,000

63,600 63,600

W 3 39 T s wew fea aun 3@ d@Ey § Presfafas aemsm
Tf=age:

(i) Y F ea | 10% gfg 1 9|
(i) FES R 5% 9 squfafaa # sy
(i) TRIA T 5% Fora 1 W= T |

(v) v =} Tnfa w1 qe 12,000 5. 3

ama?mﬁtiit,zmea%am{?qiaﬁmmmﬁarﬂ#iaﬂm'm
%

[4+4=8]

wing 412 R




- 1 TYT TE T -
- t-vrvvw B L

Ram, Laxman and Bharat are partners in a firm sharing profit and
loss in the ratio of 1/2, /3 and !/6 respectively. On 31 December, 2016

their balance sheet was as follows :

Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 8,000 |Cash 15,600
Bank Overdraft 3,600 | Sundry Debtors 13,000
General Reserve 12,000 |Stock 17,000
Capital : Machinery 3,000
Ram - Rs. 20,000 Furniture 3,500
Laxman - Rs. 10,000 Buildings 11,500
Bharat - Rs. 10,000 40,000
63,600 63,600

Bharat retired on that date and following adjustments were decided :

() Value of Stock was increased by 10%.
(ii) Depreciate Machinery by 5%.
(iii) Create reserve for bad debt at 5% on debtors.
(iv) Value of Goodwill of the firm is Rs. 12,000.
Prepare Revaluation Account and Partner’s Capital Account for the
year ending 31 December, 2016.
3rerar

OR
iy o R el - w5 faTe 301 3 g 3 F
£ 3% 31 fedgex, 2017 F WA gAE O H v fFE -
Taga fregar 1 :

i afyr wdafirat i
(%.) (%.)
(R CALe 2,700 | HF A IFI 3,000
WH §94 3,000 | ¥WR 1,000
Y+ Fm 3,000 wIve 19,700
Tft: ¥ 12,000 % E 9,000
Y 12,000 %.| 24,000 '
32,700 32,700.

NM-43 B

P.T:O.



1-17

3TER 900 ., WV 18,000 . TI WA 7,200 T. | AR F P T #
2,600 %. f&an wan, aged < 500 T. EC

[12]

e e e W et e S (3+3=8)
X and Y are partners in a firm sharing profit and loss in the ratio of
3:1. They decided to dissolve the firm on 31 December, 2017. Their
balance sheet was as follows :
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 2,700 {Cash at Bank 3,000
General Reserve 3,000 |Debtors 1,000
Y’s Loan 3,000 |Plant 19,700
Capital : X Rs. 12,000 Buildings 9,000
Y Rs. 12,000 24,000
32,700 32,700

Prepare Realization Account and Partner’s Capital Account.

Following were realized from assets :

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7,200, Creditors

were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs. 500.

wal fafee 3 100 & A& 10000, 8% ®uga Frifaa firg) amde w

10 T, 32 W 20 T., VI Ar=AT W 40 . 41 3ifaq J191 T 30 . Wi

St @ gl A vt wfaftedl Sifg )

UG Fi <L A i | v | it ol agee e g v

[1+1+1+1+1+1+1+1=8]

Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount

paya_lblc Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first

call and Rs. 30 per debenture on final call. All amounts were duly

received. Pass Journal Entries in the books of the company.

NM-43 B
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HYqr

OR
o fefiree Fft % 10 %, 91t 10000 319, 4 %, Wi I Wi R frifig
v 1 ofer Fe=t e wift o
HEET W 4 F. 7 atw (Afiaw 1 %)
A W 3 T, Wi siw (siftw 1 %)
WUR el R 4 F. 9 o9 (Gifam 1 %.)
sifo = w3 % wfa sfw (oifivam 1 %)
it Ul T W Q) ) e w5 gt § sravas s wfated]
Hifg)
A limited company issued 10000 shares of Rs. 10 each, payable at
premium of Rs. 4 per share. Amount payable as :
On Application Rs. 4 per share ( including premium Re. 1)
On Allotment Rs. 3 per share (including premium Re. 1)
On First Call Rs. 4 per share (including premium Re. 1)
On Final Call Rs. 3 per share (including premium Re. 1)

All amounts were duly received. Pass necessary Journal Entries in
the books of the company.

@|UZ-( /) / Section-(B)
fafra fararoil w1 faveraor

(Analysis of Financial Statement)

W I 18 T 19 Afdagsadd v § ) y@% y W 1 siw fifa ¥

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

question carries 1 mark.

WeI-18  Wel fasew qfig (1]
Choose the correct option :
TR fag e we Fw ¢ -
(3) av M (o) wfa+
(7)) AaTmAagfas (%) THA AN H
NM-43 B
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Break-even point depicts :

(a) profit (b) loss
() no profit no loss (d) gross profit
w-19  forg ot @ ot w1 Ffo =T foran o ke 2 (1]
From which capital the company cannot issue the shares?
fder : mmzoﬂzzwaﬁmﬂam?wﬁawm4mﬁ“"iaﬁ'
TAF Y W Aiaftn fawew j
Instruction Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks. Each guestion has an internal choice.
wr-20 frefafad faacol § yoem W A6 & T0E S [
ad 2017 a4 2016
(%) (%.)
TR 15,000 12,000
A A 3,000 1,000
qEgd Y 2,000 2,500
TFRR 13,000 15,000
= 2017 ¥ SR W T 25,000 % |
From the following information, calculate Cash Flow from
operating activities :
Particulars Year 2017 Year 2016
(Rs.) (Rs.)
Debtors 15,000 12,000 ‘
Outstanding Expenses 3,000 1000 . :
Credito - :
) rs ] 13.000 IS.OOO )
Profit during the year 2017 was Rs. 25,000,
1-43 B
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Herar
OR
firg il @ e fFarl @ Jws YIE 1 T T :
31-3-2017 | 31-3-2018
faaror
(%.) (%)
ANM--IH @ 1,20,000 1,10,000
LS 62,000 50,000
3w fwaan 42,000 24,000
SEERil] 4,000 8,000
AR 38,000 26,000
=Arfa 76,000 80,000

Calculate Cash Flow Statement from the following information :

Particulars 31-3-2017 31-3-2018
(Rs.) (Rs.)
Profit and Loss Afc. 1,20,000 1,10,000
Debtors 62,000 50,000
QOutstanding Rent 42,000 24,000
Prepaid Insurance 4,000 8,000
Creditors 38.000 26,000
Goodwill 76,000 80,000
wgi-21 % var faaw & #8 9R Iew fafau) [1+1+1+1=4]}
Explain any four objectives of.Cash Flow Statement.
ear
OR

A%g var forarw ol Ay yamg faaon § i fafay (F & 10 |
Differentiate between Cash Flow Statement and Fund Flow Statement

(any four).

NM-43 B P.T.O.
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: Hore : 4l
wet-22  Frfafem gamet @ S ST 3@
CRE] %., Afim
Y (WfH) 26,000 T, TG 20,000 &, WE 6,000
AR %, %4 fau=
IHMA 3,000 ¥, TEE IFE 20,000 F,, 30,000
18,000 ¥, S fufawd 2,000 %.
From the given information. calculate Current Ratio :
Stock Rs. 26,000, Debtors Rs. 20,000, Bills Receivable Rs. 6,000,
Advance Tax paid Rs. 3,000, Cash in hand Rs. 20,000, Creditors
Rs. 30.000. Bills Payable Rs. 18,000, Bank Overdraft Rs. 2.000.
reqr
OR
71 sl A et s %t o sf
1 7Y 1,40,000 ., Frvite Yeit 1,80,000 .,
TN 3,000 %, W 1,10,000 %.
Calculate Quick Ratio from the following details -
Current liabilities Rs. 1,40,000, Working capital Rs.l,80,000,
Creditors Rs. 3,000, Stock Rs. 1,10,000.
fder T FHiH 23
mm%"“mwé % Fraifm ¥ aor stiaf
faweq ey #
Instruction Question No, 23 is |
IS long answer type qQuestion, This question carries
6 marks and ¢ has an internal choice.
wA-23  faedtg faamop ¥ favdyy S
S T (P ) [1+1+1+1+1+1=6
Explain the i, on 1+1+1+1=6)
Portance of analysis of financial gy
“ments (any siy)
—
NM-43 B
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arear
OR

foaxita faeroii & favevo +t Wt gazme (9% 20) |

Explain the limitations of analysis of financial statements (any six).

WUE-( W) / Section-(C)
HOGZT VAR

(Computer Accounting)

: W IS 18 WE 19 AfaergEsedd W € | WlE W W 1 3% fvifa €

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

u-18

question carries 1 mark.

SR (1]
Choose the correct option :

FEZIFA FEiF ¢ :

(37) WRAN

(%) TT&F

(8) TEIW

(z) ¥ | ®E

Computerized Accounting is :

(a) Software

(b) Database

(¢) Hardware

(d) None of these

NM.43 p

P.T.0.
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e

Instruction : Question Nos. 20 to 22 arc shorl answer type questions. Each question

w-20

T¥-21

18]
WWMW%&WW%?

What is called permanent memory of computer?

: wmzoﬁzzwagmﬂﬂw%wﬁa?mm4aﬁﬁuiﬂa?:

mmmmﬁm%aﬁtwaﬁaﬁmw—m 75 X ¥

carries 4 marks. Each question has an internal choice. Maximum

word-limit ol answer is 735 words.

TRTRE YEY JUTE 3 F1E SR A IE [1+1+1+1=4]

Explain any four advantages of Database Management System.

arerar

OR

SRIEH Y&y wurelt & fafi= SAwamt &l IegRY (HE o) |

Explain various applications of Database Management System (any four)

TR 1 Tl S g fodraanel 1 s [1+1+1+1=4]

Explain any four main characteristics of computer.
rear
OR

Waﬂmﬁm#mmml

Explain types of computer on the basis of functional'ty
ity.

W¥A-22 mﬁm-waammwr '

Wi o
rite any four characteristics of Electronic Spread | o
readsheet.

NM-43 B
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arerar
OR
TR frar-v 9 91 3 swfan fafaa)

Write any four utilities of Electronic Spreadsheet.

frder . W i 23 ddewl we 139 v W 6 siw Freff ¥ W R safew
fameq & | ST =1 afvean wee-dA 125 9% ¥

Instruction : Question No. 23 is long answer type question. It has been allotted

6 marks. It has an internal choice. Maximum word-limit of answer is
125 words.

gy-23 T f wER ¥ SraieT e grEda o § o [ & W@ 9rd S
fafgu (15 87) | [1+1+1+1+1+1=6]

Write the points which should be kept in mind before taking any kind

of accounting package software (any six).

arerar
OR
JAa F TeH B THEC (FE T |

Explain the factors of Pay-roll (any six).

NM-43 B 24,000




